10.

y=2z%+6z : 4

Vertex: y =22 + 6z =22+ 62 +9—9 = (z+ 3)2 — 9. Vertex is at ‘ s
(=3,-9).
z-intercept: y =0 = 2z(z+6)=0 & z=-6or =0 >

The z-intercepts are at x = —6 and z = 0.

y-intercept: =0 =y = 0. The y-interceptis aty = 0.

Y
y=—2%+ 10z 2
Vertex: y = —z? + 10z = —(z? — 10z + 25) + 25 = , 0
—(x — 5)? + 25. Vertex is at (5, 25).
z-intercept: y =0 = 0=-22+10z=-2z(z—-10)=0 = 0 sy 4
= 0 or z = 10. The z-intercepts are at z = 0 and =z = 10 -1
y-intercept: £ =0 =y =0. The y-interceptisaty = 0.

y=2z%—2x+2

Vertex: y =22 —2x+2=22 -2z +1+1=(z—1)>+ 1. Vertex
isat (1,1).

z-intercept: y =0 = (z—-1%+1=0 & (z—1)2=-L
Since this last equation has no real solution, there is no z-intercept.

y-intercept: £ =0 = y = 2. The y-interceptis aty = 2.

y=—x’—4z+4

Vertex: y = —z? — 4z + 4 = — (2% + 4z) + 4
=—(2?2+4z+4)+4+4=—(z+2)*+8. Vertexis at (—2,8).
z-intercept: y =0 = O0=-2’-4r+4 &

0 = 2% + 4z — 4. Using the quadratic formula, 10
o= ¥ (4)(1—)4(1) (=4) —4ﬂ:\/_ (= 212\/') —9 4+ 2\/5_ The B
x-intercepts are at t = —2 + 2\/5 and x = —2 — 2\/5. -20

y-intercept: x =0 =y =4. The y-intercept is at y = 4.
y = —3z% + 6z — 2

Vertex: y = —3z% + 6z — 2 = —3(z? — 2z) — 2
=-3(2?-2x+1)—-2+3=-3(z— 1)+ 1. Vertexisat (1,1).

z-intercept: y =0 = 0=-3(z—-1)?+1=0 <&
(z-1)?=%} = m—l:i\/%— & zxz=1+x4/%. Thez-

intercepts areatz =1+ (/3 andz =1—4/1.

y-intercept: £ =0 = y = —2. The y-interceptisaty = —2.




